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const int MAXN=3e5+5;

struct Edge
int to,w,next;

edge  MAXN<<1];

int head MAXN|,6edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head/ul};
head|u!=edge cnt;

int d/MAXN]|,dis MAXN]|,sz[MAXN|,f[MAXN|,dfn[MAXN|,dfs t;
int h son/MAXN|,mson/MAXN|,p[MAXN];
void dfs 1(int u,int fa,int depth,int Dis
szlul=1;flul=fa;dul=depth;msonu|=0;dfn{ul=++dfs t;dis/ul=Dis;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
v==fa

;
dfs 1(v,u,depth+1l,min(Dis,edgelil.w));
szlul+=sz|v];

sz/v|>mson|u
h sonlul=v,mson|ul=sz|v];

void dfs 2(int u,int top
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plul=top;

mson|ul)dfs 2(h son|ul,top);
int i=head(u];i;i=edge[i].next
int v=edgeli].to;

v==Ff[u]||v==h _son|u

dfs 2(v,v);

int LCA(int u,int v
piull=plv
diplull<dlpiv!])swap(u,v);
u=flplull;

diul<d/v]?u:v;

struct cmp

bool operator const int a,const int b)const
dfnlal<dfn[b];

int Stack/MAXN|,top,node[MAXN!;
void build(int k
edge cnt=0;
sort(node,node+k, cmp ;
Stack|top=1]|=1;head =0;
_for(i,0,k
int p=LCA(Stack|top!,nodeli
p!=Stack|top

dfnipl<dfn|[Stack| top- Insert(Stack|top-1],Stack/top],dis|Stack|top
:top";

’

p!=Stack|top-
head| p|=0,Insert(p,Stack|[top]|,dis|Stack]|top ,Stack|top|=p;

Insert(Stack|top-1],Stack|/top],dis|Stack|top ,top--;

head node[i] |=0,Stack/++top/=nodei];

top>1)Insert(Stack|top-1],Stack|/top],dis|Stack|top ,top--;

bool is key[MAXN];
LL dp(int u
LL ans=0;
int i=head|u;i;i=edge!i].next
int v=edgel[i].to;
is keylv
ans+=edge/i|.w;

ans+=min(dp(v),lLL*edge[i|.w);

ans;
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int main

int n=read int(),root=1,u,v,w;

_for(i,1,n
u=read _int(),v=read int(),w=read int();
Insert(u,v,w);Insert(v,u,w);

dfs 1(root,0,0,1e9);
dfs 2(root, root);
int g=read_int();
q__
int k=read int();
_for(i,0,k
node[i/=read int();
is key|/node|i| |=true;

build(k);
enter(dp(root) );
_for(i,0,k

is key|/node|i]| =false;
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const int MAXN=1e6+5;

struct Edge
int to,w,next;

edge [ MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v,int w=
edge|++edge cnt|=Edge{v,w,head(ul };
head|u/=edge cnt;

int d/MAXN]|,sz[MAXN]|,f MAXN|,dfn MAXN|,dfs t;
int h_son/MAXN|,mson|MAXN|,p[MAXN]|;
void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;dul=depth;mson|u|=0;dfn{ul=++dfs_t;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
v==fa

dfs 1(v,u,depth+1);

szlul+=sz[v];
sz/v|>mson|u

h son|lul=v,msonlul=sz|v];

void dfs 2(int u,int top
plul=top;
mson/u|)dfs 2(h son{ul,top);
int i=head|u];i;i=edge|i].next
int v=edgel(i].to;
==flul||v==h_son|u

dfs 2(v,v);

int LCA(int u,int v
piull=plv
diplull<dlplv swap(u,v);
u=fiplull;

diul<d/v]?u:v;
struct cmp

bool operator const int a,const int b)const
dfnlal<dfni(b];

int Stack[MAXN!,top,node MAXN|;
void build(int k

edge cnt=0;
sort(node, node+k, cmp ;
Stack|top=1/=1;head|1]=0;
_for(i,0,k
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node|i|== ;
int p=LCA(Stack top],node(i]);

p!=Stack|top
dfn|/pl/<dfn[Stack|top- Insert(Stack|top-1],Stack/ top!,d[Stack|top
-d[Stack|top- ,top--;
p!=Stack| top-

head|[p|=0,Insert(p,Stack|/top|,d[Stack/top||/-dip!),Stack|top!=p;

Insert(Stack|top-1],Stack/top!,d|[Stack|top] -
d/Stack/| top- ,top--;

head node[i] |=0,Stack/++top/=nodei];

top>1)Insert(Stack|/top-1],Stack|[top],d[Stack top]]-
d[Stack|top- ,top--;

bool is key ! MAXN];

int tot,cnt[MAXN],dis[MAXN ,ans2,ans3;LL ansl;
void dp(int u
cntiul=is key|ul,dis|u =is key/u!?0:MAXN,dis|u =0;

int i=head|u];i;i=edge!i].next

int v=edgel(i].to;

dp(v);

ansl+=1LL*cnt|[v|*(tot-cntiv])*edgeli].w;
cntiu
ans2=min(ans2,dis|u +dis|v +edgelil.w);
ans3=max(ans3,dis|u +dis|v +edgelil.w);

dis|u =min(dis|u ,dislv +edgelil.w);
dis|u =max (dis|u ,dislv +edgeil.w);
cntiul+=cntiv];

int main

int n=read int(),root=1,u,v;
_for(i,1,n
u=read int(),v=read int();
Insert(u,v);Insert(v,u);

dfs 1(root,0,0);
dfs 2(root, root);
int g=read int();
q__
int k=read int();
_for(i,0,k
node[i|=read int();
is key|[node|i]| |=true;

build(k);

https://wiki.cvbbacm.com/ Printed on 2025/10/15 02:01



2025/10/15 02:01 7/13 00

ans1=0,ans2=MAXN, ans3=0, tot=k;

dp(root);
printf("%slld %d %d\n",ansl,ans2,ans3);
for(i,0,k

Is_key node|i|  =false;
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const int MAXN=3e5+5,MAXM=20;
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struct Edge
int to,w,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int w=
edge|++edge cnt|=Edge{v,w,head/ul};
head|u!=edge cnt;

int d/MAXN],anc/MAXN| MAXM!,1g2[MAXN|,sz[MAXN|,dfn[MAXN|,dfs t;
void dfs(int u,int fa

anclu =fa,d/ul=d|/fal+1l,sz/ul=1,dfn[ul=++dfs t;
int i=1; (l<<i)<d[u];i++
anclullil=anclanclu][1i- i-11;

int i=head(u];i;i=edge[i].next
int v=edgeli].to;
v==Tfa
;
dfs(v,u);
szlul+=sz|v];

void init(int root

192 =-1;
_for(i,1,MAXN
192[i]=1g2[i>>1]+1;
d[root]=1;

dfs(root,0);

int LCA(int p,int q

dipl<dlq
swapip,q);
dipl=d[q])p=ancipl[lg2/dipl/-diq ;
p==q
p;
int i=1g2(d[p]-1];i>=0;i--

anclp!/lil!=anciqlli
p=anc|p![i],g=anciql(i]l;

anc|p ;
struct cmp
bool operator const int a,const int b)const
dfnlal<dfn|b];

int Stack/MAXN!,top,node[MAXN|, temp [MAXN];
void build(int k

edge cnt=0;
sort(node,node+k, cmp ;
Stack|top=1/=1;head|1]=0;
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_for(i,0,k
node|i|== ;
int p=LCA(Stack|[top!,nodeli]);
p!=Stack|top
dfn|/pl/<dfn[Stack|top- Insert(Stack|top-1],Stack/ top!,d[Stack|top
-d[Stack|top- ,top--;
p!=Stack| top-

head|[p|=0,Insert(p,Stack|/top|,d[Stack/top||-dip!),Stack/top!/=p;

Insert(Stack|top-1],Stack/top!,d|[Stack|top] -
d/Stack|top- ,top--;

head node[i] |=0,Stack/++top/=nodei];

top>1)Insert(Stack|/top-1],Stack|[top],d[Stack top]]-
d[Stack|top- ,top--;

bool is key[MAXN];
int min dis[MAXN|,min node[MAXN|,ans|[MAXN!;
void dfs 2(int u

is keylul)min dis{u/=0,min node|ul=u;

min dis[u!=MAXN+1,min node|ul=0;

int i=head|ul;i;i=edge/i].next

int v=edgel[i].to;

dfs 2(v);

min dis{u!>min _dis|v|+edgeli].w
min dis/u/=min dis|v/+edge|[i|.w,min node[u/=min node|v|;

min dis{ul/==min dis|v]|+edgel[i]|.w)&min node/u|/>min node|v
min nodelu!=min nodel|v];

void cal(int p,int q
int son=q,cut=q;
dison/>d/p/+1)son=anc|son]||[lg2|/d/son|-d[p]- ;
ans|[min node(p||-=sz[son/;
int i=lg2/d[ql-dip!|;i>=0;1i--
dlancicut] i ]<dp ;
int disl=dlancicut][i]]-d/p/+min dis[p!,dis2=d[q]-
diancicut]/i]|+min dis|q!;
disl>dis2| | (disl==dis2&&min node|p|>min _nodelq
cut=anc|cut|[i];

ans/ min node(q! |+=sz/cut|-sz/q/;ans/min node(p||+=sz/son|-sz/cut];

void dfs 3(int u
ans|[min nodelu]l |+=sz[u]l;
int i=head|u];i;i=edge[i].next
int v=edgel|i|.to;
min dis|v/>min dis|ul/+edgeli].w
min dis/v/=min dis|u|+edgel[i]|.w,min node|v]|=min nodelu!;
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min dis{v/==min dis|ul+edge[i]|.w)&&min node|v|>min_ node u
min node|v/=min nodelu/;
cal(u,v);
dfs 3(v);

int main

int n=read int(),root=1,u,v;
_for(i,1,n
u=read int(),v=read int();
Insert(u,v);Insert(v,u);

init(root);
int g=read int();
q--

int k=read int();

_for(i,0,k
node[1i/=temp/i/=read int();
is key|/node|i]| |=true;ans|/node/1i| =0;

build (k) ;

dfs 2(root);

dfs 3(root);

_for(i,0,k
spacelans temp|i ;
is key/node/i| |=false;

puts nn ;
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const int MAXP=1e5+5;
int prime[MAXP|,mindiv|/MAXP|,cnt;
void Prime

mindiv|[1]=1;

_for(i,2,MAXP
Imindiv/i!)prime/cnt++=1i,mindiv/i|=1i;
int j=0;j<cnt&&i*primelj | <MAXP; j++
mindiv|i*prime|j | /=prime(j];

i%sprimelj == ;

#define lowbit(x) (x)&(-x)

int c/MAXP];
void add(int pos
pos<MAXP
Clpos | ++;
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pos+=lowbit (pos);

int query(int pos
int ans=0;
pos
ans+=c|pos|;
pos-=Llowbit(pos);

ans;

int d/MAXP],lca d/MAXP];
void get dep
int pos;
d[1]=0;
_for(i,2,MAXP
dlil=d[i-1];
pos=i;pos!=mindiv|pos|;pos/=mindiv/pos|)d[i/++;d[1i]++;
lca d[i|=query(MAXP-1)-query(pos-1);
pos=i;pos!=1;pos/=mindiv|pos|)add(mindiv|pos]);

const int MAXN=2e5+5;

struct Edge
int to,w,next;

edge  MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head(ul};
head|u/=edge cnt;

int Stack/MAXN!,node d|/MAXN|, top,tot;
void build(int k
edge cnt=0;Stack|top=1|=1;head|1/=0;node d[1]=0;tot=k;
_rep(i,2,k
node d[il=d[1i];
lca d[i]!=node d|/Stack|top
lca d[il<node d/Stack|top-
Insert(Stack|top-1],Stack/ top!,node d|[Stack|top]]|-
node d|Stack|top- ,top--;
lca d/i|!=node d|/Stack|top-
head|++tot|=0,node d|tot|=1ca d/il;
Insert(tot,Stack|/top!,node d|[Stack top| !/ -node d/ tot]);
Stack|top|=tot;

Insert(Stack|top-1]|,Stack/ top!,node d|[Stack|top]|]|-
node d|Stack]|top- ,top--;

head|i=0,Stack|[++top|=i;
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top>1)Insert(Stack|top-1],Stack/top!,node d[Stack|top]|]|-
node d|Stack]|top- ,top--;

int n,w/MAXN!,s[MAXN!;
LL ans|[MAXN/|, re;
void dfs(int u
u<=n)s|ul=wiul,ans!1/+=wlul*node dlul;
s[ul=0;
int i=head|u];i;i=edge[i].next
int v=edgel|i].to;
dfs(v);
slul+=s[v];

void dp(int u
re=min(ansiul,re);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
S -slvi<s|v
ans/vi/=ans|ul+(s -s|[v]*2)*edgeli].w;
dp(v);

int main

int root=1;
Prime();get dep!();
~scanf("%d",&n

_rep(i,1,n
w/il=read int();
build(n);
ans =0, re=1el8;
dfs(root);
dp(root);
enter(re);
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